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SECTION—I : MATHEMATICS

1. A box contains 24 balls of which x are red, 2x are white and 3x are blue. A ball is
selected at random. What is the probability that the selected ball is not red?

24 oBoed Ko 28 DFS® x B, 2x Bev 8050 3x Do B0k potey Keid). BotE® S0l wE
2080 &7, & 0B I oD STV e Ko Sogrdgh

(1) (2)

D= oV
oo =

(3) (4)

2. Two dice are thrown at the same time. What is the probability that the sum of the

two numbers appearing on the top of the dice is more than 10?

Botk) LR 280 JHOEIT. T8 Snerep ) Soa)ge DBo 10 K08 J,D KD Ke Sogrdys

0872
1 , L
e = s
1 -
(3) 26 13
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116. Reactivity increasing order of the following metals will be

117.

118.

208 Surostes® SasrBon DOA [H50 H8?
(1) K, Na, Ca
(3) Ca, Na, K

Poling process is used to
2990R e (S8 E6E TETE.

(1) concentrate the ore

S8 Pz Fo|BEBE
(8) heat the ore with O,
eduSs T 3¢ Dabe
Corrosion of silver results in the formation of
D08 EoHsn o8 0.
(1) silver chloride
b 538
(‘3) silver nitrate
et DS
During corrosion, a metal will
S EoNodn SoBRHE, @ S0
(1) be oxidised
es&ysemo D050k
(3) be reduced
00085830 DO

(1) aldehyde
edorb
(3) amine

TR

(2)
(4)

(2)

(4)

(2)

(4)

(2)

(4)

Replacmg one hydrogen from NH, by alkyl group will result in the formation of
58,6 (0°9) 5o, NH, %008 2.8 TGS FoR0DD

(2)

(4)

K, Ca, Na
Na, K, Ca

reduce the ore

a3 oSoEYE0

purify the crude metal
eS‘;'s"é.)Q

pure silver
B Dok
silver sulphide

RONRS A

lose electrons
dogRoo §E5H™
(1) and (2)

(1) SoBas (2)

D) DFyehoRo.

ketone
8e5°5

ester

.ags
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111, ldentify the correct statement.
98 ®on ‘g&)oesm KB8o%od
(1) By losing electron chlorine becomes cation
.De:L%(S:& §°ydtko mrgoe §°8S sreaciome Stk
(2) By losing electron chlorine becomes anion
doZR0 St hco Trxo §8S edasrRre St
(3) By gaining electron chlorine becomes cation
Do R0 oo T §BS SHeacieRure 376
(4) By gaining electron chlorine becomes anion
dog S0 Srotstio T §BS eI SR

112. An clement X27 forms ionic compound. What is the charge on X’ in ionic compound?

X7 R :m-e:go OSSRy D08, B0’ & SErgos” K dxreto G0 eio (charee)

JoH?
(19 N1 ” (2) +2
() *3 @) +4

113. Linus Pauling proposed the concept of

DD 2r9of [HSFBOID TP 28?2

(1) ionic bond (2) hydrogen bond
©0STRE WO WrE'BS wogo

(3) hybridization (4) covalant bond
S0508Ea0 ‘ o@D WOHO

14. Electronic configuration of 072 ion is
072 easr @0, IOKS ST

(1) 182 2s% 2p°

@) 12 2% 2p°

2) 1% 28 2p°
@) 1s%,28%2p°

5. The number of electrons gained by non-metallic element is equal to its

L 66% Saroto srofi Do Bowy TR HTRe.
(1) valency (2) group number
Doy (D doag
(3) bond angle (4) All of these
206 §%0 @K)&O‘il)
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106. 152 252, 2p5 3s?, 3p° (2,8,8) configuration is related to

12, 252, 2p%, 3%, 3p° (2,8,8) DagPBN & 30wofodds.
(1 Pp° (2) cr’
3) s (4) Al of these
©R)050
107. Lithium, sodium and __ are Dobereiner’s triads.
dPaho, MEaHo BA _ eBd mrabsb |@Esve.
(1) s (2) Ca
(3) cl (4) K

108. IV A group elements are called
IV A group 5005708 2500 Deodnd?

(I) carbon family (2) chalcogen family
SE)S HHe0210 TS0 Heowo

(3) nitrogen family (4) boron family
DS Hewowo Boes Hewowo

-.?._09. An element X’ belongs to 2nd group and 3rd period. What is its valency?

235079 8o 3 9 BAHED BoBH K’ &B Sareko G0, ey |
) (2) 2

d 3 3 4) 4

i
|

110. Valance Bond Theory was proposed by
Do) 204 VEROBIR) BBrBoDHE

(1) Lewis (2) Kossel
OIroNR §%2¢5

3 .

(3) Pauling (4) Bohr
odof &%
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?&p ‘The maximum number of electrons in M shell is
+ W MW&O&M%%M“O%
i R() 2 ()2

@) 18 | -

Which of the following orbitals does not exist?

08 TS* D es8)er§ destone dotir?
gl R ,

2By ' ) 3st
e @) 24°

s Bohr received Nobel Prize in
06* Sens 5,80 S0

(2) Physics
ORPOON FTAE
1‘Bidéhemistry- (4) Biophysics
Eosmand EETOE

nﬁmbqr of dege;;erate orb1tals present in 4d subshell is
pfl = , as8se SoRs

(2) 10

(4) 4

unpaired electrons in nitrogen can be explained by principle.

278 DODDZN
(4) Bohr

T &6 pofoisd
and group elements.

i e ond is formed between

Koy BaresTe oty DB
. (2) 1A and VIIA
: AA (4) 1A and VIIA
“and VII
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96. Which one of the followin
basic nature of solution?

[E980 B008); ) 508 oFemeid BeniS o (Bots BenSads O Srass Totmes)?
(1) Turmeric solution (2)

Litmus
DY Edes0 degd
(3) (1) and (2) (4) None of these
(1) So8asn (2) 3D 529

97. If pH of rain water is less than , then it is called acid rain.

38 9¢3 pH 9e03 808 By SRID, TR0 &3 30 @0,
(1) 56 (2) 76
(3) 66 (4) 86

98. Tooth enamel is made up of

B0 8, IvE___ 6 96383 sotsos.

(1) calcium sulphate (2) calcium chloride
s2@abo 5Byes s29ao 535
(3) calcium phosphate (4) magnesium sulphate
9o >dnes iAo 585

at do you observe on pbun'ng Ppotassium hydroxide on red and blue litmus Papers?
200 PEHE [Teaoso A6 S98akn B 9ed RSO D I, Bt H DR KoBethr?

- Red litmus remains red and blue litmus turns to red

DY By JOYIT dotkos, 520 59 Deg® AP Bty

~ Red litmus turns to blye and blue litmus remains blye
DY Yexd doorr 338%0, 599 B Gex® Doorrd dochis

3) Red litmus becomes colorless and blue litmus remains blue
D Oy 55 o erro, 0 59 De® oo dodhin
Red litmus turns to blye and blue litmus turns to red

D Byl Door sy 580k, DO QeSS DHH SRy

(4)
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g can be used as acid-base indicator to detect acidic or

M 55yt
(1
(3)

101‘ Whicl
BoB =
SV
(3) -

102. Niels
b &*
(1) «



. SECTION—III : CHEMISTRY
Lﬁ.ﬁ. at is the structural formula
+ 1808 u.v&.. © dgrde

i (1) cm Y= CH.

of simplest ketone?
(simplest) &5°5 Ha7

(2) CH;— NH

(2) number of bonds
. 20EB0O Pog)
(4) (2) and (3)
(2) HoBakw (3)

(2) CH,—O—CH,

I
(4) CH; —C—OH

(2) at least one triple bond
£hd0 a8 Bwoko

(4) at least one ionic bond
D50 &8 @dirds wogo

(2) acyclic hydrocarbons
e Saiy s

(4) (2) and (3)

ﬂouee &mam&b.mﬁ : (2) H08aso (3)
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. . 4 2 e
i e
g3 In old age, the valye of least gy
S5 & 98 .UW SO o ﬁvgmbom of distinct vision shifts to
(1) larger value e NS
R —— (2)  smaller value
(3) Does not change e
S (4) None of these A
T 59
g4. Electric power is the Product of current ang | Hﬂjf
v&u%w &aﬁu&.mo (SRR U&u&% [PT°0 H0805 .e o0, -
(1) resistance (2) nME.mm mmw..
26%30 &3%0 .
(8) velocity (4) potential difference %,
B0 - agabde
85. Three resistors each of 4 Q, 04 Q and 004 Q are connected in series combination. of k|

Their equivalent resistance is
4 b..u.,o.n.. Q %8050 0:04 Q denden EIRD Jardh Do @ Jogrro A%, T HOB d5°0

[djfe 810 ©(2) 4440
(@) 40 (4) 044 Q

86. Pick m.p.o correct answer from the following two statements :
08 Botd Tsmgw od HBAPN SBTGr30 JoE b |

(@ Ohm’s law is applicable to semiconductors.

%5 5.5 DODHIRY FE00-
@wuﬂamuw is applicable t© metallic conductors.
() Ohm’s law

¢3R00.
&S84, 3 mcm.u DOSIDI°RY SRR .
T (2) Only (b) is true

(1) Only (a)is true . : e
(a) Sy 0880

(4) Both (a) and (b) are false

(3) Both (a) and (b 2% ki () 50805 (b)00t> By
(ol e

(a) :605 () T
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eRieptson the principal axis, a concave lens

._ezd&me«e.u T D55 (SB0m Segro

(2) real, erect L |
8, dydenH

(4)  Does not form any image

%&aosou&aau .

A

! rved surface is

(2) biconcave
T\& concavo-convex

DerEE-S05rS

distances due to convex lens, then its focal

, VIBGYOR colours is called
. oHeorr DGR _.urwo.nu
i | (2) dispersion
9ESE0
tion
t E.m: internal reflection (4) refracti
4 u_%&uuo

Sorarott SO0
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~g ‘e o %} el e .y

The speed of light in a medium of refracyj,

i is C.
The speed of light 11 yacuum 18
69. :
. v 5c0d Do
:a...uz&w : & Ko c wod 4/3 I 5i8es5 Hoeaso SORD Q5SS 5°0
5°0
HIPR50 h A
(1) ¢ B

70.

(3) 4c/3
The stars appear twinkling. The principle involved in it 18

SEEren BB L9SETRaD. HIE 57630 B0 570d R0

: flection
(1) refraction (2) re

S8e9%0 So°HE0
(3) total internal reflection _T: dispersion
RO OB HowHYHO 55890

71. A rectangular tank of depth 4 m is full of water of refractive index 4 /3. Whe:

72.

viewed from the top, the bottom of the tank is seen at a depth of

4 m &% EARD 2.8 B BBBRSUY &G 4/3 H8esHd0 Dend FIRD DAE' Dod &oB. P eriaw i
SIRIHE EG etolh grii E2do%s Sy

(1) 3m @ 2m

(3) 1:33m , (4) 1m

A convex lens gives a virtual image when the object is placed on the principal a¢

28 005758 K80 &0 STREOR D0 B I0HR doBHE: TS BBow0 D)EE08?
(1) at infinity _
@508 ErEos®
(2) at centre of curvature
S18sr Boso plod
(3) between focal point and optic centre
0% Do) H8ak) &8 Boo D65
(4)  between focal point and centre of curvature

VOD Boys) 58050 RIELCTTAT) Dgss
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(2) freezing
B RLTAREo)
(4) condensation

o B¥e0
is added to 10 g of water at 80 °C. The final temperature of
80 oﬁﬁxﬁﬂ&mu 10 1. DESE £t U&&onﬁ 500 B0, 808

(2) 40°C
(4) 64°C

ormal when it travels from
> G0t aSE By
(2) water to air
el Dood ds
?3 air to glass
™ 2006 eertd

speeds of light in the two media of refractive indices n, and n,

B Botko GSSeS’ 508 Fren HHIT vy WBA U, oS

@ 5

v
. )

(5]

105 Gl |
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61. The C.G.S. unit of heat energy is 65. Formati

&3u88 C.G.S. [So-eao BHOET)

(1) joule (2) kelvin . (1) m

TS ELS) &

(3) dioptre (4) calorie (@ e
Gairgh 36 &

62. If 27 °C + x = 300 K, then the value of x is e w_mmm%h
27 °C + x = 300 K es00@ x 9e0d 40°Cé

(1) OK (2) 327K &ax|fe

(3) 273K . (4) 300K (1) 4

. (3) 1

63. The pair of substances which have the same value of specific heat is

67. A ligh
28 D3PH0 dens EARS eow F'AE ooen
5708 S
(1) copper, aluminium (2) zinc, iron (1) ¢
5536, ©or° R0 20§, aRuan :
(8) ice, kerosene oil (4) water, ice (3)
S0, 86°8 DK, Bo0wdd
64. During the process of conversion from liquid to solid, the internal energy of ¢ 68. Ifv,
water respe
(550 B30 5% Swr¥orr 5560 (SEAHS’, Ded 0B 4§ n, 2o
(1) increases (2) decreases
. : (1)
V00 BB008
~ [9) remains constant 4) N
2 one
i of these (3)
oo &oeod =89 s
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58. The magnetic force actin
S g on a i
three quantities namely Mmoving charge in a magnetic field is the product of

@008 Fos® SEoesuy ed503 S9Bahy @,

AHH Owﬂgmwu m.-ﬁmwau GU_.QO#H.OEO#HANG H.OH.OO

m&ﬂou U&. U&u&%ﬂd@ﬂ 200H0
(2) charge,

D,08 200 808 Horee) oo ©rbi)
&

magnetic flux, magnetic flux density
380, NI, 0% WP, Q0,08 WP oS
(3) charge, speed, magnetic flux density
&350, 5G, BAHIY,0B WP o5
(4) charge, speed, current

D80, 5, v&um% Soero

59. An auto n_%dmn started an auto rickshaw with the help of pulling a rope. The device
used by him to convert mechanical energy into electrical energy is

2.5 65 B8 eeS B0 T ritio $5a00E" B WRrc. RoS’ AroBs €, D258 $E BN
DG eLP0

(1) multimeter (2) transformer
%uwmwuoom rpuo.m.u@&@m

(3) dynamo (4) voltmeter
253 5°G dowd

60. Faraday’s laws of electromagnetic induction is a consequence of

G U&um&&ugo& B8es I @0 0505809 DoKHH0

(1) conservation of mass
_.&chum DEBLO

(2) conservation of linear mo
BPos (S5 VB0

(3) conservation of an
o Lo o AR

(4) conservation of energy

mentum

gular momentum

4§ D550 TH WORK /95505 Gios
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the change in magnetic flux and time respectively, thep the
At are
55. If A® and

induced EMF is

500 S e3000D (288 DEogET oK Doy,
¥ eoparde SI8Y) SoBaf see)
Ad 20800 Af 0 @00

RETREY
= L
(1) f\m A #
At
(3) A®-At @ Ao

56. A freely suspended needle of a magnetic compass comes to rest along the geographj,

©0HI;08 BETYDI0E Jr@D DIHYT SoDFHE, 08 4 B, DE)OIBE Sy Béen

(1) north-east direction (2) east-west direction
SB5-8r8y Bieo _ Bty -SeE08 B
(8) south-east direction (4) north-south direction

 8p-85)) Béeo &85-658 Ben

- An increase in magnetic flux throu

. gh a coil of 100 turns in 0-1 s is 0:001 Wh. The
Mmaximum induced EMF generated _

in the coil is

100 069 50R S50965° 0-1 s & ey SO, 08 WP K>S

© 0:001 Wb eond Uﬁﬁu &
©F 2050 Jend

(2) 10v

(4) 100V
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12. The HCF of 306 and 657 is
6 2oboin 657 © K5
(3 10} 10 @) |8
@) 4) 7
13. The value of logp 32 is
logp 32 Gw), Jevd _
1y 2 (2) 32
(@) s ()0
14. If A={1,2,{3,4},5}, then which of the following is incorrect?
A={1,2,{3,4},5) @ond, &s 808 TdS° IB SBHNE 5°¢5H?
(1) 34)e4 @) {B4)}ca
(3) {3,4cA (4) None of these
‘ D 57
15. If A and B are the two sets containing 3 and 6 elements respectively, then why
can be the maximum number of elements in AUB?
B0t H2uten A $:8c5n B e S5 3 S08ckn 6 Barestedy L9R DYeowd, AU B &S S0k 1y
Darresty Hagﬁomb- Qo7
{9 (2) 10
(31 4) 12
16. The number of subsets of the set A= {p,q} is
(«:T {P.g} & 52088 Ko &5 Bastoe Rog)
2
@ 3 (2 4
1, o 4 o
/ 5 ch of the following is a polynomial?
(BoB 0e&5® g 58 WTVIHY
M 2 6x +2 5
v (2) B
. X2 _3
il (3) 52 -3¢4.[5 ;c-l-l
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Class Interval 50-70
BONS @oBss
Frequency T
M:Q):.sso
(1) 110
(3) 130

70-90 | 90-110 110-130 [ 130-150 [150-170

(2) 90 _ ,
(4) 70 ) “_",.;._'
E‘c—) is a : ‘h‘ v a
210 a?— 1{»‘;ﬂ:
e e 5
210 @m & S 4
(1) terminating decimal K4
©08Hay SToko 9 g
(2) non-terminating and repeating decimal ,:’
©0B0 5% DBAKH EBYS Goso | A
(3) non-terminating and non-repeating decimal = ,‘{{;
©0¥0 579 0Baiw e3FPo S EFoFo -
(4) None of the above b
T Y R
The remainder when the square of any prime number greater than 3 is divided by 6 is s
3 5083 KD BT (SR Hogly G0, HTERY 6 B grRoBIT BBy Fidw - e
(1) 1 2 2 [ing
3 3 ()" .
Which of the following statements is not correct?

&s (308 [H5DT0S" IB $BEPHE °8? 3 -

(1) The sum of a rational number and an irrational number is an irrational number.
| o8 exsdal So 280 a8 SEBaD Soge Bwwo &S Kdah Hoxs @B,
(2) The sum of two irrational numbers need not be an irrational number.

Bok KtEBoh> S0 DO &8 EBBA0 Soa ST e .
The product of a non-zero rational number and an irrational number is an

irrational number. ‘
05 BrAghls eSEBcD Sow 300050 .8 5o Sopge omo &8 SEBAD Soag @HBI0B.

(4) The product of two irrational numbers is always an irrational number.
Bodks '§5¢§db D0 OO .Dgrgpfzr o.& B563AH o)y @)H08.
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3.

missing from a pack of 52 cards. A_card
. What is the probability of getting a

2 cards of hearts and 4 cards of spades are
is drawn at random from the remaining pac

black card?

52 5 5008, e0 Ko a8 SRS’ Syt 108 Ko 2 seihen $:B00 4 Sees beo 8
R0od &8 SRRy alTrEydysonT BohHre ed Hend) BorH 57 erHess o Sogrdgd

22 22

5). RAD D5 5y

= @) %6
24 24
B = 4 26
4. The average of the observations 10, 20, 65, 102, 108, 115 is
adeds 10, 20, 65, 102, 108, 115 ordoe ool d/few
(1) 50 (2) 70
(3) 60 (4) 40
5. If 35 is removed from the data 30, 34, 35, 36, 37, 38, 39, 40, then the median
increases by
30, 34, 35, 36, 37, 38, 39, 40, &woFos® 35 K EOR0DHLEN, T e 2e0HS° DKIHE
(1) 2 2) 15
3) 1 4) 05
6. The modal class of the following frequency distribution is
B2 0B 7551905 Derasidao G0Y), TS BEKS
Class Interval 0-20 20-40 | 40-60 | 60-80 | 80-100
BEHS wotdo
Number of Students 15 18 21 29 17
e Sowy
(1) 80-100 (2) 0-20
(3) 60-80 (4) 40-60
7. 1If ;
dattI;ei:mde and mean of a data are 24 and 60 respectively, then the median of the
2.5 S5Er0EH0) 5
7,080 GI0E), rERITES) BB @0k Bucsno SKS 24 50805 60 eod, e Koo B
b.)dgfbo =
1) 49
i @) 48
(4) 46
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